Cities and Gas Stations	T026 sample solution


Solution:


In the event that the gas stations are located at the midpoints of the roads joining the cities then the triangle formed by the gas stations has one half the perimeter and one quarter the area of the triangle formed by the cities themselves. Moreover the triangle formed by the gas stations is similar to the triangle formed by the cities.


If the gas stations are located at the midpoint of the roads joining the cities then it is certain that in traveling between any two of the cities one will encounter a gas station. On the other hand using the other scheme one might encounter a situation like this:
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This doesn’t seem to a very useful place to site the gas station.


Further, according to this scheme one could end up with a situation like this:
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